
 

SECOND YEAR HIGHER SECONDARY SAMPLE QUESTION PAPER 

ACCOUNTANCY WITHCOMPUTERISED ACCOUNTING 

(Maximum 60 scores) 

 

Time:2hours 

Cool of time:15 minutes 

 

PART A 

 

Question number1to 5,carry onescore. Answer any four 
 

1. The account which shows distribution of profit among partners in a business 

firm is… 

2. On retirement of a partner the unrecorded liability credited  to………… 

Account 

3. At the time of admission of a partner accumulated profits are shared by old 

partners in……………… 

(a) New Ratio (b)Old Ratio 

(c)Gaining Ratio (d) Sacrificing Ratio 

4. Fill inthe blanks 

Realisation A/c Dr 

……………A/c 

(for Realisation expenses) 

5. Which among the following leads to compulsory dissolution 

(a) Business becomes illegal 

(b) Partners except one become insolvent 

(c) All partners except one died 

(d) All of these 

II. Question No.6 to7.Each carries 2scores 

 

6. What is partner ship deed 

. Write any two content 

of it 

7. Anil, Manu and Vimal are partners in a firm sharing profits and losses in the ratio 

of 3:2:1.   Vimal retires from the firm and the Good will of Vimal is 

valuedat`10,000/-.Write the Journal entry for treatment of Goodwill. 

III. Question No.8 to10 carry 3 score each.Answerany two 



8. Boby and Dileepare partners in a  f i r m  s h a r i n g  p r o f i t s  a n d  

l o s s e s  i n  t h e  r a t i o 3:2. They decided to admit Arjun into partnership 

with ¼thshare in profits.Arjun brings in`45,000/- for capital and the required 

amount of premium incash.The goodwill of the firm is valued at`30,000/-. The 

new profit sharingratiois2:1:1Bobyand Dileep withdraw their share of goodwill. 

G i v e necessaryJournal Entries. 

9. Differentiate between Dissolution of partnership and dissolution of a firm in 

Accounting point of  view. 

10. Show how will y o u  t r e a t  t h e  f o l l o w i n g  i t e m s  i n  t h e  

a b s e n c e  o f  p a r t n e r s h i p  deed. 

Interest on capital NIL(Hint) 

Interest on Loan ……………………….. 

Profit sharing Ratio ……………………….. 

Salary/Commission ………………………. 

 

 
Question No.11 to12 eachcarry 4score 

 
11. (a)C o n s i d e r  t h e  f o l l o w i n g  i n f o r m a t i o n  a n d  a s c e r t a i n  t h e  v a l u e  

o f  g o o d w i l l .  
 

Total capital employed - 5,00,000 

Normal rate of return - 8% 

Average profit for last 5 years - 60,000 



Goodwill isestimated at3yearspurchaseof superprofit 

(b)D i f f e r e n t i a t e gainingRatioandsacrificingRatio(Twopoints) 

12. Sravan,apartnerinafirmdiedon1 stJuly2021.A s peragreementthelegalrepre

sentativesareentitledto 

(a) Hiscapitalaccountbalanceasperlastbalancesheet`3,00,000.  

(b) Shareof goodwill basedon2yearspurchaseof last4yearaverageprofits. 

(c) Share of profit up to the date on the basis of average profit of last 

4 yearsprofit for the last 4 years were`46,000,`48,000,`44,000 

and`54,000respectively.Sravan’sshareintheprofitsofthe firmis1/5. 

Find out the amount payable to legal representatives, assuming that the 

accountofthefirmclosedon31stMarcheveryyear. 

Question no13to14.E a c h carry5score 

 
13. Faizal and Jithin are partners sharing profits in the ratio of 2:1.Their 

capitalaccounts showed a balance of`6,00,000and`4,00,000 respectively. Faizal 

isentitledtoasalaryof`5 ,000permonth.Ji th inisentitledtoacommissionof  

`10,000.Interest on capital is to be provided @6% p.a profit for the currentyear 

before the above adjustments is`2,50,000/- Divide the profit 

betweenFaizalandJithin. 

(Hint.Profit&LossAppropriationAccount) 

14. Anshad, Chandana and Divya are partners in a firm.Anshad retires from 

thefirm.On the date of retirement,`80,000 is due to him.Chandana and 

Divyapromise to repay the amount in four equal instalments at the end of every 

year.Prepare Anshad’s loan Account if they agreed to repay the amount in 4 

equalyearlyinstalmentstogetherwithinterest@10% p.a 

Answerany1questionfrom15and16carriesof8scores.



 

15. AshaandBinuareequalpartnersofatextileshop.Theirfinancialpositionason3

1.03.2021wasasfollows: 

Assets ` 

Cashatbank 50,000 

Debtors 60,000 

Stock 40,000 

Buildings 1,50,000 

Furniture 1,00,000 

Total 4,00,000 

  

Liabilities ` 

Creditors 60,000 

BillsPayable 10,000 

Capitalof Asha 1,80,000 

Capitalof Binu 1,50,000 

Total 4,00,000 

 
On01.04.2022Chandiniwasadmittedasanewpartnerfor1/3shareofprofit.Thefollo

wingtermswerealsoagreeduponbythepartners: 

a) Chandnibroughtin`1 , 5 0 , 0 0 0 ashiscapitaland`5 0 , 0 0 0 ashissh

areofgoodwillincash. 

b) Stocktoberevaluedat`30,000andBuildingsat`2,00,000 

c) Aprovisionfordoubtfuldebtsistobecreatedat5%onthedebtors. 

d) Theunrecordedinvestmentof`3,000tobetakenintoaccount. 

 
Preparet h e R e v a l u a t i o n Ac c o u n t , P a r t n e r ’ s C a p i t a l Ac c o u n t a n d t h e B a l

a n c e S h e e t afteradmissionof thenewpartner. (8)



16. ManuandManojarepartnerswhoshareprofitintheratioof 

2:1followingistheBalanceSheetason31stMarch2018. 

BALANCESHEET 
 
 

Liabilities Amount Assets Amount 

SundryCreditors 48,000 Cashand Bank 40,000 

GeneralReserve 30,000 Stock 60,000 

Capital SundryDebtors 78,000 

Manu 1,40,000 LandandBuilding 1,00,000 

Manoj 80,000 Furniture 20,000 

  

2,98,000 

 

2,98,000 

 

Ona d i s p u t
e  

 

betweent h e p a r t n e r s t h e y d e c i d e d t o d i s
s o l v e  

 

thef i r m o n t h
e  

followingterms 

 
1) RealisationexpensesamountedtoRs.4,000 

 
2) Debtorsrealisedatadiscountof 5%, 

3) StockrealisedatRs50,000. 

4) FixedAssetsrealized– Land&Building Rs.1,40,000,Furniture Rs.18,000 

5) TherewasanunrecordedassetsofRs.5,000whichwastakenoverbyManu. 

6) Creditorsarepaidinfull 

Preparenecessaryledgeraccountstoclosethe booksof firm.



PART–B 
 

COMPUTERIZEDACCOUNTING 
 

 

 

 

I. Answerany3ofthefollowing (3x1=3) 

 
17. Intersectionof rawand columniscalled_  

18. Findtheoddone 

a)MSWord b)MSExcel c)Lotten123d ) G N U K h a t a  

19. Whichfunctionisfunctionusedtocalculatetheloanrepayment 

20. Writethesyntaxof‘SLN’ 

 
II. Answerthefollowingquestionwhichcarry 2score

 (1x2=2) 

 
21. ListoutthecomponentsofLibreofficebase 

 
III. Answerany twoofthefollowing (2x3=6) 

 
22. Namedifferentcellreferences 

23. Givetheelementsofa chart 

24. CompletethePayrollof anEmployee 

BP=75000,DA=10%ofBP,HRA=<2500ifBP>i s greaterthan75000,otherwisè 200

0  

BP DA HRA Gross 

75000 ? ? ? 

 
 

IV. Answerthefollowingquestions (1x4=4) 

 
25. Explaindifferentfinancialfunctions 

 
V. Answeranyoneofthefollowingquestions

 (1x5=5) 

 
26. Listoutthemerits andlimitationsofcomputerizedAccountancysystem



27. Completethetable 
 

 

 

 
 

Sl.

No 

 

Transactions 

 

Account

Name 

 

Group 

 

Subgroup 

Voucher

type& 

F.Key 

1 Commenced

business 

CashDr 

CapitalCr 

Current 

AssetCapital 

Cash 

  

Receipt 

F4 

2 Purchasedgoodsfro

mSuresh 

Purchase 

DrSureshCr 

DirectExpens

esCurrent 

liability 

None 

  

Purchase

F7 

3 SoldgoodstoRa

mesh 

 

  

Sales 

Current 

AssetDirectIncom

e 

SundryDebtorsN

one 

F6 

Sales 

4 DepositedinS

BI 

SBI 

Cash 

CurrentAssetC

urrentasset 

Bank

Cash 

 

  

F8 

5 PaidSalary Salary 

Cash 

  

CurrentAsset 

None 

Cash 

F5 

Payment 

 

 

 

Prepared by – ASKER,SALEEMA,SANDHYA,MAHESH MATHEW,BUSHRA,JOHN,SHAJANA,HASEENA,RANJITH 

 

******************* 
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